
Appendix V

Outfall Assessment Tables

Project #1: NBC - Finch			
Site #	Scaled Condition Rating	Failure Impact	Failure Risk
Exposed/Failed High Priority Sites			
5	5.0	5.0	25.0
6	5.0	5.0	25.0
7	5.0	5.0	25.0
8	5.0	5.0	25.0
9	5.0	5.0	25.0
Additional High Priority Risk Sites			
19	4.0	5.0	20.0
20	1.3	5.0	6.7
22	3.7	5.0	18.3
Additional Risk Sites			
26	3.3	5.0	16.7
53	3.7	3.0	11.0
65	2.3	1.0	2.3
Project #1: NBC - Finch - Failure Risk:			25.0

Project #2: NBC - King Maple			
Site #	Condition Rating	Failure Impact	Failure Risk
Exposed/Failed High Priority Sites			
2	5.0	5.0	25.0
Additional Risk Sites			
25	3.3	5.0	16.7
27	3.3	5.0	16.7
34	2.0	5.0	10.0
Project #2: NBC - King Maple - Failure Risk:			25.0

Project #3: BRC - Upper			
Site #	Condition Rating	Failure Impact	Failure Risk
Exposed/Failed High Priority Sites			
13	5.0	3.0	15.0
14	5.0	5.0	25.0
Additional High Priority Risk Sites			
15	2.7	5.0	13.3
21	3.7	5.0	18.3
Additional Risk Sites			
29	3.0	5.0	15.0
36	2.0	5.0	10.0
Project #3: BRC - Upper - Failure Risk:			25.0

Project #4: NBC - Tanner			
Site #	Condition Rating	Failure Impact	Failure Risk
Exposed/Failed High Priority Sites			
11	5.0	5.0	25.0
Additional Risk Sites			
39	1.7	5.0	8.3
64	2.7	3.0	8.0
Project #4: NBC - Tanner - Failure Risk:			25.0

Project #5: Maxome			
Site #	Condition Rating	Failure Impact	Failure Risk
Additional High Priority Risk Sites			
17	4.3	5.0	21.7
Additional Risk Sites			
30	2.7	5.0	13.3
32	2.3	5.0	11.7
33	2.3	5.0	11.7
35	2.0	5.0	10.0
Project #5: Maxome - Failure Risk:			21.7

Project #6: Manorcrest			
Site #	Condition Rating	Failure Impact	Failure Risk
Exposed/Failed High Priority Sites			
10	5.0	4.0	20.0
Additional Risk Sites			
43	1.7	5.0	8.3
69	2.0	3.0	6.0
Project #6: Manorcrest - Failure Risk:			20.0

Project #7: NBC - Forest Grove			
Site #	Condition Rating	Failure Impact	Failure Risk
Exposed/Failed High Priority Sites			
3	5.0	2.0	10.0
Additional High Priority Risk Sites			
24	3.7	5.0	18.3
Project #7: NBC - Forest Grove - Failure Risk:			18.3

Project #8: BRC - Confluence			
Site #	Condition Rating	Failure Impact	Failure Risk
Exposed/Failed High Priority Sites			
12	5.0	3.0	15.0
Additional High Priority Risk Sites			
23	3.7	5.0	18.3
Additional Risk Sites			
40	1.7	5.0	8.3
Project #8: BRC - Confluence - Failure Risk:			18.3

Project #9: NBC Page			
Site #	Condition Rating	Failure Impact	Failure Risk
Additional High Priority Risk Sites			
16	2.6	5.0	13.0
18	2.6	5.0	13.0
Project #9: NBC Page - Failure Risk:			13.0

Project #10: NBC - Confluence			
Site #	Condition Rating	Failure Impact	Failure Risk
Exposed/Failed High Priority Sites			
1	2.7	5.0	13.3
Additional Risk Sites			
42	1.7	5.0	8.3
Project #10: NBC - Confluence - Failure Risk:			13.3

Project #11: NBC - Canary			
Site #	Condition Rating	Failure Impact	Failure Risk
Exposed/Failed High Priority Sites			
4	5.0	2.0	10.0
Project #11: NBC - Canary - Failure Risk:			10